Xneb (py6./kr), LeHbl cpeaHue

MUWHUMAINbHLIE
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Monoko (py6./1n), kedoup (py6./1n),
LieHb! cpeoHue MUHUMarbHble

58,7 58,7

=Monoko 2,5%

57,07 °7.86
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Avua kypuHble (py6./pec.),
cpeaHAA LeHa

65,00 -
60,00 0 58’70 58’49
55,98 56,8 “»MWH. LileHa
57,65 57,19
55,00 - «d*MaKkc. LueHa
52,27
50,00 -
45,00 | | [ [ [ [ [ [ [ [ [
0 0 K 0 B 0 © A 0 N 0 0
R & N & P & & & K K K K
q@@ &QQQ \} @QQ W W X o és\‘?‘ o‘éq‘ Q*OQ Q@\gb



Macno cnnBo4yHoe (py6./kr; py6./nau.),
LLeHbl cpeaHue MUHUManbHbIE
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Macno pactutensHoe (py6./1 n),
LieHbl cpegHue MUHUMaribHble

90 -

85 -

~»»Macno nogconHe4yHoe

83,95 = 84,1 841
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Myka, Kpynbl, caxap (py6./kr),
LleHbl cpeaHne MUHUMarbHble




OBowum (py6./kr), LeHbI cpeaHue

45 MUHUUMAJIbHbLIE

43 -

41 - 38,97
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Msico (py0./Kr),LieHbl cpegHUue

MUWHUMaAlMbHLIE@
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®pykThI (PYO./Kr), LeHbI cpeaHue

MUWHUMAJTIbHbIE
200,00 - o
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CM (py6./n), ueHbl MUHUMANbHbIE

42 -
11 - 40,7 40,7 40,7 40,7
™~ A
e 9.6 AL-92
: wo=Al-
39,2 39,2 39,2 %
“w=AlN-95
2 | A——k
20T
38 -
%
S 37,7 377 SEd
37 [ [ | [ [ [ | [ [ [ [
SRS @Q& P @,3\“ @on \9@0 / *c'} ol Ry
& S SIS W= o S
& @ NS



